—hgvI

BRERIRLLE  50% K
FERE Tofh
R 5 RN AR R

s O
2. BESHORKR
" " 300 K BL k| 200 K Bk | 100 K BL L
@ 7 400 7R VL I 100 % 1
; . i I * 00 5K K | 300K k@ | 200 5k K i R
— b 28.5 - - - - 2.5
W% 50.3 - - - - 50.3
Lo R M| R E M - - - -
(CORE T - - - - - -
&% i - - - - - -
it 30.9 - - - - 30.9
2. P B H B (— 8 k) 36.9 - - - - 36.9
3w lElﬂ?ﬂJEE\z‘&{)\ B 28.0 - - - - 28.0
VSRR S 68.0 - - - - 68.0
B @ Sk A BB E IR (% 176.7 - - - - 176.7
3 WHIAN pw( A B 8.1 - - _ _ o]
” Ty (Ew 14.4 - - - - 14.4
B % K g;g{x B 1.8 - - - - 1.8
% QO Lam sk % 3.2 - - - - 3.2
(@) PRk 1AM 72 b il b I B 4.6 - - - - 4.6
7. Ak 17,252 - - - - 17,252
TN 742 - - - - 742
o 1,247 - - - - 1,247
R 1,357 - - - - 1,357
(1) A& 560 - - - - 560
M i T 278 - - - - 278
% A B R 10, 554 - - - - 10, 554
- Rtk 1,907 - - - - 1,907
i z o 608 - - - - 608
N
- 4B % 12,180 - - - - 12,180
&l
! % n s o 186 - - . _ 186
- P R 2,472 - - - - 2,472
b B % 7,139 - - - - 7,139
o T 325 - - - - 325
& s T4 509 - - - - 509
¢ B A& 1,257 - - - - 1,257
Al B 238 - - - - 238
A Z O i 54 - - - - 54
(M)
BH1AYL7 B _ B _
A 14,013 14,013
2 WHEIALHYZ(E 0 314,901 - - - - 314, 901
D BHILA () {EEE%IS | 71,070 - - - - 71,070
(1) BHEIALANZ (& K 4,252 - - - - 4,25
5, DI (M) | 4 581 - - - - 581
it 4,834 - - - - 4,834
2 ABBEIALIHLZD) & _ _ _ _
% % R w M 542.0 542.0
(3) AN (B % 13.5 - - - _ 135
il (%) 7 5t 113.2 - - - - 13.2
at 13.5 - - - - 113.5




RERKRLEE  50% K
—fEVn EHEAE ZTOf
B 5 TR RRR T RE

B i
" . Lo | 300 BU k| 200 BL k| 100 B BL Ok
. ’ # AL A0 BE D ok ko | 000k ok w | 2o0m ko | XKW
6.
St (1 % % W % W A 39.1 - - - - 39.1
)
%= 2 B & R A 7.2 - - - - 7.2
A (3) W 4 W O A 1.8 - - - - 1.8
e
) EFE 100 A4 721 EI‘%E? 319.9 - - - - 319.9
7. ) W )
% @) ;’%;}100 ANL7-10 ﬁ&l(%{}lim 6 _ _ B B 6
i (o) BAEHWIALG DK 89, 928 ) _ . B -
MAFMIAYS 2D
? @ RAA (T1) 28,247 - - - - 28, 247
*® B RECAT 1A 72 )
w I 717 iz 1,800 - - - - 1,809
o BOERECRE 1 AN 72 D
© FgHgn (T 7.088.0 - - - - 7.088.0
% ) ﬁ%&%%ﬁﬂl%ﬂ@% o B B ) . o
¥ @ RO R o4 i ) . ) o
& (3 EEHU R K
i )RR O (%) 11 - - - - 1.1
1 & fli 3.3 - - - - 3.3
9 @ (7. & # 10.0 - - - - 10.0
b AMl4. M A OE W 78 - - - , 18
o Wy, & W B T 2.2 - - - _ 2.9
o B (= it 20.0 - - - - 20.0
PR
£ (3) F A WM W R 2.2 - - - - 2.9
7 @ OB WM oM K 6.7 - - - - 67
n (5) # £ #M W R 3.3 - - - - 3.3
i (6) o 4 M PR R 11 - - - - 13
{; (7) K B A R R 11 - - ; - 1
8 & o M W H - - - - - -
(9) & Tk =] 31.7 - - - - 37.7
S < S 10,674 - - - - 10,674
10. Mﬁié;é:,?g 5 { 7. L7} 6,131 - - - - 6,131
(A‘%*H S A T il 3,372.0 - - - - 3,372.0
L[ mk E # 22.3 - - - - 22.3
w| @ F £ 17.2 - - - - 17.2
| 82y 6 " & 2.0 - - - - 2.0
L CUREE S S = A - - - - - -
gl B o A% 6.0 - - - - 6.0
7 41.5 - - - - 47.5
"
I 2. % EN il B 1.5 - - - - 1.5
% 1) — B A 4 A - - - _ _ ?
% @ # ¥ ff M 8 1.5 - - - - 1.5
(3) = o A& F B - - - - - -
I
3. A T (= G~ N < 1.8 - - - - 1.8
it 4. bin # XK k4 1.6 - - - - 1.6
5 am fE i W 0.2 - - - - 02
T 6 B % % 0.5 - - - - 0.5
T % it % 6.8 - - - - 6.8
%
w| 8 I 25.1 - - - - 25.1
|73 IO VI ST G SN E O 3.4 - - - - 3.4
w9 it 28.6 - - - - 28.6
#
It B (2 & ol EEE R R 4.7 - - - - 4.7
# o (3) it 33.2 - - - - 33.2
9 T S B S S < 1.2 - - - - 1.2
%) 10 = » 1t 10.5 - - - - 10.5
no % i & at 104.7 - - - - 104.7




